| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
1e - - Entries 113415 1g - - ~— Entries 113415
E I ' ' Mean 0.3706 E ' ' ' Mean 2.48
r . y Std Dev 0.522 B . . . Std Dev 2.442
10_15_ missing_inner_layers 10_15_ missing_outer_layers
E Entries 107811 E Entries 107811
r Mean 0.3774 r Mean 2.507
_ Std Dev 0.525 _ Std Dev 2.454
10 2 E i . . 10 2 E =TT T .
F missing_inner_layers F missing_outer_layers
- Entries 110404 - Entries 110404
3 Mean 0.3752 3 Mean 2.494
10°F Std Dev 0.524 107°F std Dev 2.45
3 I F I
- missing_inner ‘d yers - MISSING_( outer H\H\'\
—4 L | Entries 7 —4 L Entries 7
10 E Mean 1 10 E Mean
o Std Dev 0.5337 o Std Dev 2.558
10°F A 107 : e e
01()15;_"""'"I""I""I""I"""".""!""!"" 01075_....!....!... I|
RN S L g Lafee S | o
¥ 1.05F-------romemiom- [hd = : : : :
o . . — = . i . .
o ] 1.2 e el ++ """ L ai R
! = [ M . . .
E o r oo L ."J;s-o.-+ I *
0,95l SO T B il H
05 115 2 25 3 35 4 45 5 0 5 10 15 20 25

— obal TToriginal_RECO
=== DQM_V0001_R000000001__Global mkFltNewDett RECO
[ mean hij = DQM_V0001"R000000001 Global _mkFitNewDett33 RECO
e DOM V0001 R000000001_Global _mkFitNewDetNoF__RECO
- F Entries 113415
" 4l Mean 8.388
2 10°E Std Dev 4.775
A F : : I
2 N hits
% - : Entries 107811
] I A 3 | Mean 8.5
10°E : Std Dev 4.82
E : : : I
N hits
o Entries 110404
o | Mean 8.464
10 E : [ Std Dev
= Entries 78
. | Mean 8.68!
10 | std Dev 4.96
o | "N 4
1
E ..I....I....I....I. A T
3] L [ :
T 3 I
2 @ F
0.9F
0.95 : : : : : 0.t~ 5 +i+ : : :
=3 -2 -1 0 1 2 3 0 5 10 15 20 25 30 35 40
track n track hits

num_simul_pT num_reco_pT
Entries 143227 Entries 352378
Mean 2.096 Mean 0.6508
Std Dev 5.929 Std Dev 6.986
H | I 1 e - e oo 1
num_simul_pT num_reco_pT
Entries 143227 Entries 302489
Mean 2.096 Mean 0.611
Std Dev 5.929 .Std Dev 6.248
: I : |
num_simul_pT . . num_reco_pT
tries 143227 . . Entries 324888
Me 2.096 i | Mean 0.628
Std Dev 5.929 : | Std Dev 6.534
num_simul_pT. num_reco_pT
Entries 143227 Entries 432649
Mean 2.096 . . Mean 0.656
Std Dev 5.929 . . Std Dev 6.942
= s . .
10
—6,
o108k
= H
< I
X s
i3 i
0.8 "-'I-




	Contents
	Page 1


